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	Module 6: Lesson 4 ASSIGNMENT

This Module 6: Lesson 4 Assignment is worth 19 marks. The value of each assignment and each question is stated in the left margin.


	(19 Marks)
	Lesson 4 Assignment: Work and Power


	(2 marks)
	TR 1.
	A garage door opener is rated at 373 W. How much work can it do in 14.0 s of operation?



Answer:

	


	(2 marks)
	TR 2.
	An automobile engine exerts a force of 595 N to propel the car at 90.0 km/h on a level road. What is the power output of the engine at that time?



Answer:

	


	(7 marks)
	TR 3.
	A traditional, double-seat chairlift can move1200 people per hour (with an average mass of 60.0 kg) up a ski hill. A high-speed quad chair can move 2400 people in 30.0 minutes up the hill. If the upper terminal is 100 m higher than the lower terminal, how much power would each type of lift need just to overcome the force of gravity? Explain why they would need more power than the amount used to overcome the force of gravity.



Answer:

	


	(4 marks)
	TR 4.
	Complete question 6 of “6.4 Check and Reflect” on page 330 of the textbook.



Answer:

	


	
	
	Discuss
In the discussion forum, answer the following two questions.


	(2 marks)
	D 1.
	Assumptions have been made in this lesson that the energy lost operating a 
low-speed chairlift is the same as the energy lost operating a high-speed lift of equal path length. Why is this assumption false? What impact does this have on the efficiency of the lift?



Answer:

	


	(2 marks)
	D 2.
	How could efficiency be maximized on a chairlift that can have anywhere from 0 to 2400 riders per hour?



Answer:

	


	Once you have completed all of the questions, submit your work to your teacher.



